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He can pick 
9 and 4   (9+4=13)
This is incorrect because the numbers are from 1-8 and 9 is bigger than 8. 

He can pick 
7 and 6. (7+6=13) 
Both numbers are between 1 and 8. 
This is correct. 

He can pick 5 and 8 (5+8=13) 
Both numbers are between 1 and 8. 
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He can pick 3, 4 and 3 
3+4+3 = 10.
This is incorrect because I have used 3 twice. I can only use each card once.

He can pick 1, 4 and 5
1+4+5 = 10
This is correct. 










Your task- each section is a different question. Start with the top one.
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Valto has & cards with
numbers 1 - ¥ o each
card.,

He picks two cards that
ad up to 13,

What cards could he
have Fick‘ed\.
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Find two different ways.
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Valto’s has & cards
with numbers 1 -
on each card,

He has chosen three
cards that malke 10,

How many ways can
he do this?
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Valko’s cards are
all different,

There is a number
from 1 ko ¥ on each
card.,

He has chosen four
cards that add up
to o,

What are kkev?

There are seven
m different Possi.bili.kies.
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Valko’s cards are all
different,

There is a number from
1 to ¥ on each card,

If he multiplies 3 of
the numbers he qets
126,
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How many ways can you find to
do this?
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Valto’s has & cards
with numbers 1 - ¥
on each card.

He picks 4 cards thak
ad up to 24,

There are two ways to
do it can you fikd
both of them?




